
stretch, scale factor 1
2 ,

in the y−direction

Describethetransformation

fromf(x)to2f(x)+3

re
fl
ec
ti
on

in
th
e
y−

ax
is

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
= f(2x

)+3 is
...

The
stationary

pointof
the

quadratic
curve

y=
f(x)

is
(6,−

3).
The

m
axim

um

pointon
the

curve
y
=

2f(x)−
3is...

Describe the transformation

from f(x) to −f(x)

Describethetransformation

fromf(x)tof(x)+2

tr
an

sl
at
io
n

2 0

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
=
1
2
f(x)

is..
.

The
stationary

pointof
the

quadratic
curve

y=
f(x)

is
(6,−

3).
The

stationary

pointon
the

curve
y
=

f(3x)+
2
is...

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
=2 f(

x−3)+
2 is

...

(2,−
5)

Describe the transformation

from f(x) to f(x+2)

translation

0

−2
st
re
tc
h,

sc
al
e
fa
ct
or

2,
in

th
e
y−

di
re
ct
io
n

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
= f(x−

2) i
s...

(6,−
1)

(6,−1.5) Th
e
st
at
io
na

ry
po

in
t
of

th
e
qu

ad
ra
ti
c

cu
rv
e
y=

f(
x)

is
(6
,−

3)
.
T
he

st
at
io
na

ry

po
in
t
on

th
e
cu

rv
e
y
=

f(
x 2)

is
...
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stretch, scale factor 2, in the y−direction,

followed by a translation 0
3

stretch,scalefactor
1
2
,inthex−direction,

followedbyatranslation
0
3

tr
an

sl
at
io
n

0 2

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
= f(2x

)−3 is
...

(3,0)

(−6,−3)

(4,−3)

D
es
cr
ib
e
th
e
tr
an

sf
or
m
at
io
n

fro
m

f(
x)

to
f(
x−

2)

(6,
−9)

De
scr

ibe
the

tra
nsf

orm
atio

n

from
f(x)

to f
(
x
2
)

(12,−
3)

(4,
−12)

De
scr

ibe
the

tra
nsf

orm
atio

n

from
f(x)

to f
(2x

)+3

(9,−
4)

The stationary point of the quadratic

curve y=f(x) is (6,−3). The stationary

point on the curve y =
2f(x) is...

Th
e
st
at
io
na

ry
po

in
to
f
th
e
qu

ad
ra
tic

cu
rv
e
y=

f(
x)

is
(6
,−

3)
.
Th

e
st
at
io
na

ry

po
in
to

n
th
e
cu

rv
e
y
=

f(
x)
−

2
is
...

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
= f(x)

+2 is
...

The
stationary

pointof
the

quadratic
curve

y=
f(x)

is
(6,−

3).
The

stationary

pointon
the

curve
y
=

f(x+
2)

is...

(6,−5) Th
e
st
at
io
na

ry
po

in
to
f
th
e
qu

ad
ra
tic

cu
rv
e
y=

f(
x)

is
(6
,−

3)
.
Th

e
st
at
io
na

ry

po
in
to

n
th
e
cu

rv
e
y
=

f(
2x

)
is
...
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stretch, scale factor 2,

in the x−direction

Describethetransformation

fromf(x)tof(−x)

tr
an

sl
at
io
n
−

2 0

The
sta

tion
ary

poi
nt o

f th
e q

uad
rat

ic

cur
ve

y=f
(x)

is (
6,−

3).
The

sta
tion

ary

poi
nt o

n th
e c

urv
e y
= f(−

x) i
s...

The
stationary

pointof
the

quadratic
curve

y=
f(x)

is
(6,−

3).
The

stationary

pointon
the

curve
y
=
−
f(x)

is...

The stationary point of the quadratic

curve y=f(x) is (6,−3). The stationary

point on the curve y =3 f(x)−2 is...

Th
e
st
at
io
na

ry
po

in
to
f
th
e
qu

ad
ra
tic

cu
rv
e
y=

f(
x)

is
(6
,−

3)
.
Th

e
st
at
io
na

ry

po
in
to

n
th
e
cu

rv
e
y
=

f(
3x

)−
2
is
...

(6,
−11)

De
scr

ibe
the

tra
nsf

orm
atio

n

from
f(x)

to
f(x)

2

(3,−
6)

(2,
−1)

De
scr

ibe
the

tra
nsf

orm
atio

n

from
f(x)

to 2f(
x)

(3,−
3)

(8,−3)

(6,−6)
D
es
cr
ib
e
th
e
tr
an

sf
or
m
at
io
n

fr
om

f(
x)

to
f(
2x

)

refl
ect

ion
int

he
x−a

xis

stre
tch

, sc
ale

fac
tor

1
2
,

in t
he

x−d
irec

tion

D
escribe

the
transform

ation
from

f(x)
to

f(x)−
2

(6,3)

Thestationarypointofthequadratic

curvey=f(x)is(6,−3).Thestationary

pointonthecurvey=3f(x+2)−3is...
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